



BILL TO: DIRECT CONNECT LOGISTIX INC 314 WEST MICHIGAN STREET INDIANAPOLIS, IN 46202 INVOICE DATE: 04/29/2025 INVOICE #: R88063 TERMS: NET 30 DUE DATE: 05/29/2025

DATE	CUSTOMER REF#	ORIGIN - DESTINATION	QUANTITY	RATE	AMOUNT
04/25/2025		2415 Plantside Drive, Louisville, KY 40299 - 4321 Muller Dr, Caldwell, ID 83605			
		Freight Income	1	\$3,300.00	\$3,300.00

TOTAL	
\$3,300.00	

PLEASE NOTE

The right to payment under this invoice has been assigned to Compass payment Solutions LLC (CFS) and all payments hereunder are to be directed to the assignee at the address noted below. Remittances to other than CFS do not constitute payment of this invoice. CFS must be given notification of any claims, agreements or merchandise returns which would affect the payment of all or part of this Invoice on the due date. COMPASS FUNDING SOLUTIONS LLC P.O.BOX 205154 DALLAS, TX 75320-5154 Tel: 844-899-8092

Rate Confirmation Terms and Conditions

1. This rate confirmation is subject to the terms and conditions of the Broker-Carrier Agreement ("Agreement") in place between Direct Connect Logistix, Inc. ("DCL") and the motor carrier referenced above ("Carrier"). This rate confirmation shall be effective upon the earlier of: (I) Carrier's acceptance in writing, including email, or verbally; (II) Carrier's physical possession acceptance of the shipment; or (III) Carrier's failure to reject this rate confirmation within twenty-four (24) hours.

2. The rates and charges provided in this rate confirmation shall represent the total compensation owed to Carrier, inclusive of any accessorials, fuel surcharges, or any other charge or expense, unless otherwise expressly stated herein. The rates and charges cannot be amended, modified, or supplemented except by written agreement of an authorized representative of DCL. Any rates, charges, fees, terms and/or conditions contained in any tariff, circular, schedule or similar document maintained or used by Carrier shall not apply, unless expressly agreed upon by DCL.

3.Additional operational terms and conditions applicable to the shipment may be included in the Carrier Instructions and Requirements and such additional operational terms and conditions shall apply. To the extent the Carrier Instructions and Requirements conflict with the Agreement, the Carrier Instructions and Requirements shall supersede and apply. Carrier acknowledges that all freight handling, routing, and delivery instructions provided by DCL are those of the Customer.

4. Carrier must have written approval from DCL to be included on rate confirmation for any additional charges including but not limited to, detention, stop off, layover, loading, or unloading. Any additional charges not approved by DCL will not be invoiced by Carrier nor compensated by DCL.

5. Carrier shall submit all service and operational documents, such as receipts, to DCL within forty-eight (48) hours of delivery.

6. Carrier shall submit all invoices for services rendered within ninety (90) days of delivery or when delivery reasonably should have occurred and failure to submit invoices within such ninety (90) day period shall constitute Carrier's waiver of all rights and remedies to payment. Broker shall make payment to Carrier for all undisputed charges within thirty five (35) days of Broker's receipt of Carrier's undisputed invoice and all other documentation required to substantiate Carrier's invoice. Carrier may select expedited payment for a fee of two percent (2%) of the gross rate. Fees for wire issuance will be assessed to Carrier.

7. Except when Carrier is tendered a sealed trailer, Carrier is solely responsible for loading and securing the shipment. Carrier is solely responsible for transporting the shipment within legal weight limits. If Customer does not scale on site, Carrier shall make an immediate protest prior to transporting the shipment and Carrier's failure to protest shall be deemed Carrier's acceptance of the shipment as provided and places liability on Carrier for fines, penalties, or costs associated with movement of an overweight shipment

8. Carrier must notify DCL immediately of any overages, shortages, losses, or damages to freight transported by Carrier.

9. Carrier shall be liable for overages, shortages, losses, or damages to freight pursuant to 49 USC § 14706 and as further provided in the Agreement.

10. Carrier shall provide services pursuant to its motor carrier operating authority and shall not subcontract, broker, interline, or use substituted service without written authorization from DCL

11. All shipments are subject to electronic monitoring and tracking. Carrier will lose right to detention or layover if Carrier does not provide or allow electronical tracking for the entire duration of the shipment.

12. Seals are required on all shipments, must be intact upon delivery, and the seal number must match the seal number provided on the bill of lading.

13. For temperature-controlled shipments, Carrier must verify temperature with the Customer prior to leaving origin. All refrigerated shipments must run on a continuous cycle unless otherwise expressly indicated. All trailers transporting temperature-controlled shipments must have the ability to produce a temperature download.

14. Failure by Carrier to provide DCL notice of delay prior to appointment shall subject Carrier to a \$250 rescheduling fee.

15. Failure to comply with these terms and conditions will constitute a breach of contract and may result in additional fees or non-payment.

16. Carrier shall only seek payment from DCL. Carrier shall remit original invoices, bills of lading, receipts, proofs of delivery, and all other required documentation to payables@directconnectlogistix.com. Failure to timely provide required documentation may result in delayed payment of Carrier's invoice.

Direct Connect Logistix, Inc. 130 S Meridian St., 3rd Floor Indianapolis, IN 46225 (317)218-7777



WE USE RELAY! CHECK YOUR STOPS FOR YOUR CODES

www.dclogistix.com

All Carrier Payments are now processed through TriumphPay.com

- 1. Go to www.TriumphPay.com
- 2. Register your company
- 3. Connect with Direct Connect Logistix
- 4. Add <u>your payment information</u>
- 5. Control your money!

CHECK YOUR STOPS FOR YOUR CODE

Get Paid Now! Login to TriumphPay.com to take advantage of our 2% 2-Day QuickPay! ALL QuickPay Paperwork needs to be

emailed to QP@dclogistix.com for

proper processing

Todas los pagos del operador ahora se procesan a través de TriumphPay.com

Registrese en línea para recibir pagos:

- 1. Ir a www.TriumphPay.com
- 2. Registre su empresa
- 3. Conéctese con Direct Connect Logistik
- 4. Agregue su información de pago'
- 5. <u>iControla tu dinerol</u>

¡Obtenga su pago ahora; [Inicie sesión en TriumphPay.com para aprovechar nuestro 2% de pago rápido de 2 días! TODOS los trámites de pago rápido deben enviarse por correo electrónico.a QP@ddogistix.com para su procesamiento adecuado



DIRECT CONNECT LOGISTIX, INC. 130 S MERIDIAN ST, 3RD FLOOR INDIANAPOLIS, IN 46225

Page 1

INDIANAPOLIS, IN 46225 (317) 218-7777			0 B0034	Load Confirmation					
Carrier: Date:	ZIGI F LOME 04/25/		C IL 6014	8		Contact: Phone: Fax:	RIKI KOVACEVIC (630) 485-7370		
Order	Orde Miles Tem BOL	r: 6312 s: 1912 p:				Commodity: Weight: Trailer: Reference:	Paper products 43000.0 Van (DAT) LVL11893		
	PU 1	Name: Address: Phone:	SOUTHERN 2415 PLANTS LOUISVILLE	SIDE DRI	RD CARTONS VE (40299	Contact:	04/25/2025 0800 04/25/2025 1600 ad: No driver loading or	 unload	
		Reference Reference		BM BM	LVL11893 LVL11893				
	SO 2	Name: Address: Phone:	ZOROCO PA 4321 MULLE CALDWELL			Date: Contact: Driver Loa	04/29/2025 0800 04/29/2025 1000 ad: No driver loading or	unload	
		Reference	number:	BM	LVL11893				
Payment	Carrier Freight Pay: Macropoint Tracking				\$3,000.00 300.00				
		Total Car	rier Pay:		\$3,300.00)			

Carrier Instructions and Requirements: This form must be completed and returned before driver can be loaded. SOUTHERN STANDARD CARTONS - INTEININ: MUST DELIVER AT APPT TIME, NOT EARLIER OR LATER, OR THERE WILL BE A \$250 DOLLAR FINE.

SOUTHERN STANDARD CARTONS - INTEININ: The Driver MUST make sure the release # on the paperwork he is given matches his rate con. This is at all locations - it will be the 4 letter / 4 digit number not the PPW#. YOU WILL NOT BE PAID IF YOU DO NOT MAKE SURE THE RELEASE # MATCHES THE PAPERWORK!!! SOUTHERN STANDARD CARTONS - INTEININ: Detention pay is \$35/hour after 3 hours free, capped at \$150/day for Dry Van shipments and \$250/day for Refrigerated shipments.

****Produce Shipments - No detention is paid at shipping locations (sheds). Detention at delivery is paid after 5 hours free at \$35/hour, capped at \$250 per 24 hours.

FCFS facilities do not pay detention unless specified in writing with your broker.

Layovers are paid at \$150/day for Dry Van, and \$250/day for Refrigerated shipments.

Carriers are NOT to arrange for any rejected product or full loads to be dropped at a 3rd party warehouses or taken back to shippers without broker's authorization. These actions can result in nonpayment for the load or full truckload claims. Any additional miles incurred to carrier for rejected product needing taken back to a shipping location or 3rd party location are paid at \$1.50/mile + FSC to carrier.

Please Sign: Mateo Utvic

(X) Accept

() Decline

Driver Name: Humberto Driver Cell: (321) 442-1940 Driver Email: Tractor #: 733 Trailer #: W94927

1N: 11:40 am OUT: 4:05 Pm **Bill Of Lading**



2415 Plantside Drive • Louisville • KY • 40299 ((502) 491-2760

@www.onepaperworks.com

Ship From: PaperWorks Industries, Inc. 2415 Plantside Drive Louisville (Y JSA 10299					BOL Number			
					024617 CONTINENTAL M ZNR - ZOROCO F 4321 MULLER DF CALDWELL ID 83605		PACKAGING INC	
Trailer N	umber	1	racking Num	iber	Ship Date F.O.	B. Pallets Out	Carr	
	r Freight: Folding			1.0.0	04/25/2025 FOB Des	tination 29	LVL TO	SHIP
Your P.O.	Our Order No.	No. of	Count	Total	Description		Total Weight	Weight (lbs.)
Number	Prod: 0033475 Sales: 0033475	units 96	/unit 275	<u>count</u> 26,400	129692L01 KRUSTEAZ M 522G Your Release:PO# 31377 Customer ID # 221-03810	2	(lbs.) 31097.5761	2144.6604
	Prod: 0033475 Sales: 0033475	1,29 6	275	356,400	132457L00 TJ GF PUMPI Your Release:PO# 31377 Customer ID # 201-15120		31097.5761 Fuller	28952,9157 4/29/
Unit ID	Our Order No.	No. of units	Count /unit	Total	Description		Total Weight (lbs.)	Weight (lbs.)
24207162 24210058	0033475 0033475	48 48	275 275	13,200 13,200	522G	MEYER LEMON BAR MIX	31097.5761	1072.3302
24250278	0033475	48	275	13,200	132457L00 TJ GF PUMP	31097.5761	1072.3302	
24250400	0033475	48	275	13,200	132457L00 TJ GF PUMP	31097.5761	1072.3302	
24251548	0033475	48	275	13,200	132457L00 TJ GF PUMP	z 31097.5761	1072.3302	
24252740	0033475	48	275	13,200	132457L00 TJ GF PUMP	Z 31097.5761	1072.3302	
24252820	0033475	48	275	13,200	132457L00 TJ GF PUMP	Z 31097.5761	1072.3302	
24253816	0033475	48	275	13,200	132457L00 TJ GF PUMP	Z 31097.5761	1072.3302	

.

ONBINATION SHORT FORM BILL OF LADING re property described below, in apparent good order, eccept as noted (contents of package unknown) marked, consigned, and destined as indicated below, which said carrier (the word carrier being understood throughout his con-terior or corporation in possession of the property under the contract) agrees to carry to its usual place of delivery at and destination. If on its route, otherwise to deliver to another carrier on the nouse to and destination. It is indicated below, which said carrier (the word carrier on the nouse to and destination. It is indicated of any of said property, but every service to the be performed hereunder shall be ubject to a profition of the Uniform Demail: Straight Bid Lading set forth (1) in Official, Southern, Western, and Isinate Preight Classifications in effect on the date hereof, if this is a rail or a rail water shipment, or (2) in the applicable moto support and accepted for humonit as its a motor carrier shallow and bill of lading set forth in the classifications in effect on the date hereof, if this is a rail or a rail water shipment, and the said terms and conditions of the applicable moto support and accepted for humonit and/line within at the terms and conditions of the applicable moto support and accepted for humonit and/line withing the terms and conditions of the applicable without mecures on the contigence the applicable bill of being satid terms and conditions are hereby in OOLLECT ON DULVEYS SHEETERS "COM" MUST APPEAR BEFORE CONSIGNEE'S NAME – OR AS OTHERWISE PROVIDED IN ITEM 430, SEC1 whee to becine of the program. The shipment is to be devived to the contigence without mecourse on the contigence's taight big in the following statement. The carrier shall not make delivery the shipment mores between two ports by a carrier by water, the law required to the contegence's every shifts water of the program. The shipment mores between two ports by a carrier by water, the law required to the contegence's every shifts and the ord by the sh mutually agre act to all the te

towes even two points by a carrier by water, the like requires this the bit of lading state whether it is carrier's or anoper's length. Note: Entering the lating state whether it is carrier's or anoper's length. The list of the lating state whether it is carrier's or anoper's length. The list of the lating state whether it is carrier's or anoper's length. The list of the list of the lating state whether it is carrier's or anoper's length. The list of the list of the lating state whether it is carrier's or anoper's length. The list of the li

Day Mundar		Bill Of Lading				
PaperWorks	2415 Plant	(ouisville • KY • 40299 ((502) 491-2760			
		🕜 www.onepa	aperworks.com			
	S# 0911467					
			Shipping Terms			
(Rec	eipt of Goods at Destination)					
eceived in apparent good order (except as noted), from						
		the goo	ds described hereir			
	Consignee. Date	_				
eclared Valuation: \$ IAXIMUM LIABILITY \$1.50 PER POUND, UNLESS DE	CLARED VALUATION STATES OTHEI	RWISE				
- B. C. 4.	S-25 Carrier					
Shipper Signa lare 4-2	per					
COMBINATION SHORT FORM BILL OF LADING The property described below, in apparent good order, except an note (contents of package unknown) method	ed. consigned, and destined as indicated below, which said carrier (the word car intery at said destination; if on the much software to distive to another carrier and then a staid destination; if on the much software to distive to another carrier and the	ter being understood throughout this contra- tive rouge to said destination. It is mousially a	ct as meaning any spreed, as to			
COMBINATION SHORT FORM BILL OF LADING The property described below, in apparent good order, except an endod (contents of package unknown) methed such as the such as the suc	ed. consigned, and destined as indicated below, which said carrier (the word can be route, some or the said carrier of the word can be route, somewise to deliver to another carrier of the last fragment carrier and the said carrier of the last indicated below, which said carrier and the said carrier of the last indicated to the date hereof, if this is a rail or a rail wate the classification or taritl which governs the transportation of this streament, and the classification or taritl which governs the transportation of this streament, and the classification or taritl which governs the transportation of this streament, and the classification or taritl which governs the transportation of this streament.	ter being unterstood throughout this contra- the noue to and destination, it is mutually to the route to and destination, it is mutually to it singment, or (2) in the applicable motor ca the said terms and conditions are hereby all	ct as meaning any greed, as to a terms and trier greed to by the			
COMBINATION SHORT FORM BILL OF LADING The property described below, in apparent good order, except as noted (contents of package unknown) marked sets casine of all or any of said property over all or any points and the contract) agrees to early to its usual price of de- scribed to the United Delow, in apparent good order, except as noted (contents of package unknown) marked sets casine of all or any of said property over all or any points at all notified destination, and as to each pa- conditions of the United Delow, its apparent good order, and and the said set of the the person or corporation in possession of the property under the contract) agrees to early to its usual price of de- cased leasting of all or any of said property over all or any points of said include. Southern, Western, and Bits cased leasting of the United Delow. The property under the contract, agrees to the said all adding set forth in described to the United Delow. The said property over the said bit of lading set forth the description of contractive Set the said property over the said bit of lading set forth the description of the forth the is familiar with a file. The LETTERS "COO" MUST APPEAR BEFORE CONSIGNED without description of all of the property over the said bit of lading. If this shipment is to be delivered to the contage without description of all of the good datages.	ed. consigned, and destined as indicated below, which said carrier (the word car through a state of the second carrier is the second carrier is the second carrier is the second carrier of the sec	ter baing unterstead throughout this contra the mode is asia gestination. It is mutually un immode have been and association at the mutually un- ter angurent, or (2) in the applicable motor ca the said terms and conditions are hereby at ment. The carrier shall not make delivary of alue, shipper's are required to state specific	ct as meaning any spreed, as to a terms and rise gread to by the the shipment ally in writing the			
COMMENTION SHORT FORM BILL OF LADIN The property described below, in apparent good order, except en anotad, contents of anotad, except en anotad, excep	ni, consigned, and destined as indicated below, which said carrier (the word car inverse at laid destination. F on its routs, otherwise to tellwar to another carrier or the same transmission of the said carrier (the word car is Fraged Classifications in their cart of the last and the carrier of the fraged Classifications in their cart of the last and or a rai wate the classification or tariff which governs the transportation of this shipment, and the classification or tariff which governs the transportation of this shipment, and the classification or tariff which governs the transportation of this shipment, and the classification or tariff which governs the transportation of the shipment and the classification or tariff which governs the transportation of the shipment and the classification or tariff which governs the transportation of the shipment and the classification or tariff which governs the transportation of the shipment and the classification or tariff which governs the transportation of the shipment and the classification of the consignor. The consignor shall sign the footowing state where it is carter's or shipper's weight. NOTE: Where the rais is dependent on v is thereon, and all other requirements of Rule 41 of the Uniform Freight Classifica- field, and lakeled, and are in proper condition for transportation according to the	ter being understood throughout the contra- tion in the state destands on this mutually in- the nous to said destands on this mutually in- the said terms and conditions are hareby at the said terms and conditions are hareby at ment. The carrier shall not make delivary of alue, shipper's are required to state specific ten and Rule 5 of the National Motor Freigh applicable regulations of the Desartment of	ci as maanng any mared, as io a iuma and riter peed to by the tras shipmert aity in writing the t Classification.			

PaperWorks

Bill Of Lading

2415 Plantside Drive • Louisville • KY • 40299 【 (502) 491-2760 www.onepaperworks.com

					(7	www.onepaperwo	rks.com
24254721	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24255437	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24256958	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24257007	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24257315	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24258414	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24259255	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24259792	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24260416	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24261010	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24261799	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24262071	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24262331	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24262411	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24262547	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24262859	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24263157	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24263270	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24263645	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302
24264747	0033475	48	275	13,200	132457L00 TJ GF PUMPKIN BRD & MUFF 17.5 OZ	31097.5761	1072.3302

COMBINATION SHORT FORM BILL OF LADING The property discrited below, in apparent good order, except as noted (contents of package unknown) marked, consigned, and destination, if on its route, otherwise to deliver to another carrier on the route to aid destination, if on its route, otherwise to deliver to another carrier on the route to aid destination, if on its route, otherwise to deliver to another carrier on the route to aid destination, if on its route, otherwise to deliver to another carrier on the route to aid destination, if on its route, otherwise to deliver to another carrier on the route to aid destination, if on its route, otherwise to deliver to aid property over all or any of said property over all or an